=0.2 %/ MK
ag=0.2%/ A0 = -0.15 %/ WX’
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(EXFEHRFHHFEDE 814 K)

IR EFREREEB TR E AT R
BERERES, REP[DES. SHEE GRS
Big® 1984412 FEAEE N A AU BE
BT PC - 1500 U i1 B

BE¥ERSHESE
g

ul,i(K) :%[ulw.j (K)+ul.i~| (K)+ul+|./'(K_l)+ui_j+|(K_1)]—

—%[“in./ﬂ(K— D) +uisy i (K) +uis, i (K-1) +u; |.io|(K)]

_tﬁqj’ul. ] ( K )*Eui, IH‘]%K &'iﬁﬁi&ﬂﬂ
{H. VR ARWTFERE TR INTE. A
ERNREIRLE, BDASEIXSHKETRT .

U j=

2
3BIEHES (KD, hmRySeE B
0:.i=0.318 [ui ; (K) ~ui ; (K-1)] B

A K KEIBIE(E,
ui i (K)=u; ,(K)+0, ;(K)
4T RPHKERE (v (K- 1D H
ui . (K) AR E,

Ylu(K)-u(K-1)]?
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MEm | «PMFEEE (10 ~ 10 &
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2AAENAME (w ; (0) ), BBAEENME
X, FAY ,)) VWEABRRDLAFER
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K B, EARELE

5. FBMREAERMNTT GRIAEEGE): Mg
Wabw , (K) EAKTFHERPHBRKE, ©
ANFREPHIR/ME, WA, X4

max {u;. ; (K)j<<max{a(x,y)}(\min
lui j(K)Y >minla(x, y) | B, 8iu  (K) .
7500 S0 AR E B e . keI,
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102: 1=0: F$="HEAHHAHA"

T A A 1A 14: FOR J=0 TO Ni: PAUSE “F
; . N " Iy iy ="
- ; W . J— {

M w%&' N—BIREG Mo— BRI eyt col R1 L ) -con
&€Nl‘fﬁkﬁ&“.ﬁ&‘5—§$ﬂﬁ (107 ~107"); LPRINT USING F#$: Co;
mx_, k—iR2¥ F (M, N) —5%fFimi{E, 108: USING: NEXT J: LPRINT
RS X 5 (4, 10 : "“A"; FOR 1=1TO M1 +K: PAUSE

“Co, C1"
BEHERSLHA 112: INPUT Co0, Cl: LPRINT
_ USING F4: Co: Cl;
LA EW. WAHEM, N, M, 114: F1(1, 0) =C0: FI1(I, N1) =C1

N BB IR 1, SRR AN K S B 116 : USING: NEXT I: LPRINT
EUHE LA ERES, SERATRMENGNS 117 1P MI=MTHEN 13

118 . "B" FOR 1=N1+1 TO N:
i Eo , Mi =M, N =N,
(B WFERs. Mi=M, N PAUSE“F1(%M1; 1,")="

0/0 N0 N 120 : INPUT C0: LPRINT USING
#..--1 F $; Cos
! 122: F1(M1, 1) =Co0
Y 124 : USING: NEXT 1: LPRINT
Ni/M M, 126 FOR 1-=M1+1TO M-1: PAUSE
“Cop, C1”

128: INPUT C0, Cl: LPIINT
USING F$: Co: C1
13():FI(I.O)ZC():Fl(l.N)=Cl

0/M NIM 132 : USING: NEXT I: LPRINT
—— 14: FOR 1=0TO N: PAUSE “F |
S VI LR
2. 8RS, BN NMENSHX HES. 136 : INPUT C0: LPRINT USING
(1) 50 % M0 BEIN B (KR FMEIN F4: Cos
%)’1% 0%. N[%‘; 2% 0%, Nl%" ..... 138: FI(M. l):CO:USING 'NEXT
Ny BN ) I: LPRINT
(Ftik fy N e 140 . GOSUB 350
2) Mi%: 05, N5; TEM +18, 150 : “"C".FOR 1=1TO M-1
FINE dnM =M, NHHBET . 152: N2=N1: IF 1>M1 THEN LET
(3) MZ: 0 SEIN 5. N2 =N
: 154 : FOR J=1TO N2-1
D 1 A3 B 9N 9M9Nv ’
‘ 3 #ﬁ‘ﬁ%ﬂ?ﬁémmﬁﬁﬁ)\m ! 15 : M0=0: IF J>N1 THEN LET
@‘321 ﬁ'{aﬁ%)\c e M0O=M1
4.11E: BRGITEXIEUHE, STENERME 158 C1=-F1(I, N2): Co=F1(l, 0):
HERNEIC K Bmk + ko C2=F1 (M0, ): C3=F1(M., D)

5. WHARGHS: MrSNEs) DEF o $r2£~32>t§2()* 48%C 1 % J /N2
¥ v '_4 e " \
N, A 151 SRERERBACHSE, 1T 162 : C2=C2%.52% (M-M0-1)/(M-M0)

ENRERRE E. HEASINTE, BT +C3%.48% 1. (M-M0)
ENRSERIEERF 161 : F1(1, J)=C0+C2

90: INPUT Mi, M. N 166 : NEXT

94; LF M-M| LET K=-1 168 : NEXT 1

96: CSIZE | 170 . K=1; E=10-4

100 DIM F1 (M, N) 199: UL=1E9; Uo=Ul: K=0: LPRINT

51



200

202
206

207 ;

208

209

210

212
214

215

216
217 .

218
219

220 :

221

222

22

224

226 :
228 :

232

234 .
236 .
239 :

340 ;

52

TIME

“S”:PUIO: N2=N1: FOR I1=1
TO M-1

IF I>M1ITHEN LET N2=N
FOR J=1TO N2-1
Ci=F1(I+1,J-1)+F1(l+1,
J+1)+F1(I~-1,1-1)+Fl(1-1,
I+

C=F1(l+1, 1) +F1(1-1, J) +F]
(I, J-1)+F1(1, J+1)
Ci=C/2-C1,4: C=C1-F1(1, J):
F1(I, J) =C1+C%. 382
PU=PU+C*C

NEXT 1J: NEXT 1

U=PU/ ((M-1)% (N-1) - (M-M1)
* (N-N1))/2

USING: U=JU: PAUSE K, U
IF ABS (U-U1) <EGOSUB 380
IF KK=1LET E=E/5

Uo=U1l;: Ul=U; K=K+1

GOTO 200

“Z”.; COLOR 2: CSIZE 1: Fs=
“HREBH.BHRB": LPRINT' K=" K
LF 2: USING: LPRINT “F1(M,

Ny Ficr, "™ ’

FOR [I=0TO M:LPRINT 1

N2=N:I1F I<M! THEN LET
N2=N1

FOR J=0TO INT (N2,2)
Co=F1I, I

CiL=F1i(l, N2-))

LPRINT TAB 6: USING F§;
Co: TAB 20; USING Fg§: C1
NEXT 1J: USING

NEXT 1. USING

*U"; LPRINT U0 LPRINT

M K-1; Ki"=";U: LPRINT

LF 6: END

342 .
343 :
344

345
346 :

348 .
349
350 :
352
354 :
356 :
358

360 :

362 :
364
366 .
368 :

370

372 .
374
378 :
380 .

382 .
384 :
386

388 .
392
394

“N”FOR [I=1TO M-1|
LPRINT 1

N2=0: IF 1-. =Ml LET
N2=N-N1

FOR J=1TO N-N2-1
INPUT C0: Co0=Co0-F1(I.,)):
LPRINT USING F¢; C;
NEXT J: LPRINT: NEXT |
LF &: END

REM: BASIC, max,min
MA=-1Ei16: MI=1E 10

FOR J=0 TO M STEP M
FOR 1=0 TO N

IF F1(J,)>MA LET MA-=
=F1it), 1) ,

IF F1dJ, I) <MI LET MI
=FidJ, D

NEXT 1: NEXT J

FOR J=0 TO N STEP N
FOR 1=1 TO M-1

I1F F1(l, J)>MA LET MA=
=F1(l, 1)

IF Fi1(l, 1h)<IMI LET MI-=
=F1(1, 1)

NEXT 1. NEXT )
USING : PAUSE MA, MI
RETURN

REM : BASIC, max>Fl (I, })>
min

FOR I1=1 TO M-1

FOR J=1 TO N-1|

IF Fidl, }J) <MAX AND
Ficl, J) >M1 NGOTO 1392
KK=1: GOTO 3%

NEXT J: NEXT 1
RETURN

i



